S PIES TYN

L RTERR K F DK

KeRETFHH T 58
BEERZA WRTHETH A K | EEE | @ EEH%E%E
Fm)
EAT BRI ERT |E 13 213.053
1 |2BEER INEET BT &t 24 387,286
P ATEET | & 37 600,339
EHEM. BT BER2ET [ 26 733,946
2 |SAEER B HIRET, ECHHET BT &t 6 79,552
St _ 32 813,498
X = H] BIRSE AT |2 8 182.112
3 |4BER i 4 0 0
& 8 182,112
H24.6.19~22 o] e T BIR6EAT |2 1 6,071
4 |IBRAMEERRY |FEFR hET At 5 17,841
EE4AS i 6 23912
H24.4.29~6.27 BRI BEiEr = 1 124,885
5 |Hhg Y ThET# 0 0
_ B 1 124,885
H24.7.6~7 R&M BIRIEAT R 0 0
6 |ERAEEEm RNEHT hET At 3 29,086
B 3 29,086
H24.7.11~12 %5 BIRIEAT R 0 0
7 |ERATBEER REH hET A 3 21,424
_ B 3 21,424
H24.7.10 P& BER2ET B 1 37,415
8 [HE Rl BR1EFr  |ThEs 2 16,749
_ B 3 54,164
H24.7.28~30 RHH A& & 8 136,350
9 | =M INEE ERR13ERT  [hEA 12 89,964
FHh _E 20 226,314
H24.3.24~8.17 IIES BERIEm & 1 92,771
10 [#g Y hET A 0 0
_ B 1 92,771
H24.8.6 K& BER2ET B 0 0
11 |Z/M ThETH 2 8,095
_ B 2 8,095
H24.8.17 K¥m. At BER10EM  |& 1 2,881
12 |Z=/M W/ AET, /NMIF hETAt 18 35,843
B 19 38,724
H23.528~24829 |/NIF BERIE & 0 0
13 [Hd Y GHED] 1 10,424
_ _ B 1 10,424
H244.18~9.7 E&Hmh ERR1ERr =] 1 17,410
14 | XY ThETH 0 0
_ _ B 1 17,410
H24.8.30 E&HmH EERAE R =] 0 0
15 | &=/ INIF hETAt 4 6,592
_ _ B 4 6,592
H24.9.30~10.1 £ EERIE R =] 2 21,235
16 [BRI17S L/ HET GHED] 1 1,050
B i 3 22 285
&5t A& =] 63 1,568,129
16RER o 7RI 74 ERR136E AT |ThET4H 81 703,906
BRI B 144 2,272,035




